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BACHELOR'S DEGREE PROGRAMME
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N- FST-01 : FOUNDATION COURSE IN SCIENCE
AND TECHNOLOGY

Time : 3 hours	 Maximum Marks : 100

Note : Question No. 1 is compulsory. Attempt any seven

questions from Q. No. 2 to 9.

1.	 (a) Fill in the blanks : 	 3

	  amino acids are those
which our body cannot synthesise.

The 	 of milky way galaxy
consist of stars, and gas and dust
clouds.

(iii)	 	 is the branch of study that
deals	 with	 the interaction of
organisms with their environment.

	

(b) Give one word term for each of the following :	 4

The species during the course of
human evolution that was first tool
maker.

The single chip that contains large
number of semi-conductor devices to
perform specific functions.
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Defence system consisting of WBC in
our body to protect it from invading
microorganisms.

The range of	 electro magnetic
radiations to which our eyes are
sensitive.

Write in one or two sentences, the major 	 8
contributions of the following scientists.

(i)	 Kepler	 (ii) Susruta

(iii)	 Louis Pasteur	 (iv) Newton

Explain each of the following briefly, within 15
50 words.

Quantitative science in Bronze Age.
Photochemical smog

Balanced diet

Lead time of scientific development.

(v)	 Importance of experiments in science

Describe the functioning of a nuclear reactor. 10
What are the hazards associated with nuclear
world ?

Name two global environmental problems that 10
have made the nations work collectively. What
corrective and remedial actions have been taken
so far towards these problems ?
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4.	 (a) What is the role of radioactive isotopes in
dating the objects of past ?

(b) Describe any five characteristic features of 	 5
the planet Jupiter.

5

5.	 (a) What do you understand by infections 	 5
diseases ? List any four infectious diseases
and their causitive organisms.

(b) List any two products made from each of 	 5
the following : Polymer, Synthetic fibre,
liquid crystal, fibre glass, alloys.

6.	 Differentiate between the following pairs :
	 10

Solar wind and solar flare

Producers and decomposers

(c) n-type and p-type semiconductors.

(d) Renewable and Non-renewable resources.

(a) Discuss the impact of technological 	 5
developments in the area of transport on
our society and environment.

(b) In what ways can biotechnology play an	 5
important role in agriculture ?

(a) What is a computer ? How does it help in 	 4
communication ?
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(b) Discuss the role of communication in	 6
creating cultural awareness and promoting
education.

9.	 "Aggression is a basic instinct in animals while it 10
is a learned behaviour in human beings." Discuss
the statement and justify your answer.
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